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SUBANLRT B2 AXBAHASTELEH) (Sl &)
= _ = rSls
SA BB SA(BH) - HIRAY - BES Ol o HIDS2
8,119,893 6,888,387 1,231,506
= 30,000
& 4,500,000
= 338,000
i 3,251,893
Hes2 N 35 8,119,893 6,866,092 1,253,801
= 30,000
& 4,500,000
= 338,000
i 3,251,893
BEAMsT 22 EXSAHA=CSESH) 1,398,260 1,435,789 A37,529
Aot AT SA 1,398,260 1,435,789 A37,529
201 23| 2,012 2,716 NT04
01 AtR2telY] 2,012 2,716 NT04
O SHUZHAST B2 HTDAF ALEZ
24| 7,000& * 6 » 33| * 12& 1,512
O =%=2 SE2JIAM HAHl 5@ * 10,0009 500
308 AXISHHISOIA 848,728 780,553 68,175
05 RXISHHI2tR &= 34,952 28,801 6,151
O Ssezcass P50 22/H|2
34,952,000 * 12 34,952
08 JIEtFE= 813,776 751,752 62,024
O sstggaysE I+ 813,776
— 344 4138 = 73,0008 * 123 361,788
— SXS 4138 » 91,2008 ~ 123 451,988
401 AlZ2HILROHYI 362,520 352,520 0
01 Al&HI 350,000 350,000 0
SadA T AZAYIA
350,000,000& = 14 350,000
03 A& 20 2,520 2,520 0
Sty A2 Y SA RO
350,000,000& * 0.72% 2,520
402 RI2EXk=0lA 195,000 300,000 105,000
02 2IZHCH AL I 195,000 300,000 105,000
O Helg=d EXISAL AL
650,000 * 300= 195,000
Yt 2 (Y= SE) 1,096,633 928,287 168,346
= 30,000
i 1,066,633
= 2 M8 2 S22 WX 301,659 310,724 29,065
201 Ler2d| 2,520 3,024 2504
01 AtR2telY| 2,520 3,024 2504
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H&l: =20 JNX 23
Chel: RISASE 2l2l(AaTSeEs)) (EH9l: &)
= Pl
S - BB SRA(E) - HRAR - B2 o1&y o HimE=T
O 4%¢ &2 ASA =0 24 'HI
7,008 * 62 * 53| * 122 2,520
401 N8I L =CHY| 299,139 307,700 78,561
01 A&t 297,000 305,500 8,500
O 44E 22 DIUBA 297,000
— HAE LET DA, BH)
0002 * 3,000m 240,000
— MAE CSRAE DX L 24
1,500,0008! * 30JH4 45,000
— 2EHYI| UL B5E DHBA
50,0002 * 8071 12,000
03 Al THE| 2,139 2,200 61
O +E-2 S DHBA 20|
297,000,002 * 0.72% 2,139
NASE 22 o JIE SA2S 163,020 163,004 A10,004
201 YBrey] 3,020 3,004 A4
01 AFR2i2/H] 3,020 3,004 A4
O M4G S2EA 21 24
7,008 * 62 * 53| * 122 2,520
AST SAEAD| SXBRIB 500,002 500
401 N8I L =CHY| 150,000 160,000 A10,000
01 A&t 150,000 160,000 A10,000
O XLASE 2A2HEBAHION)
50,000,000 * 14] 50,000
O BiX U JtE SAS4H(Q4 220
ol 240H4) 2,000,000 * 254 50,000
O SE| SIRIZ 2I3=76I(1004 S21)
50,000,000 * 14] 50,000
FHEAT P2l L 44T 2320 561,704 435,855 125,849
101 Q4| 10,800 91,228 80,428
04 IR E S E 10,800 91,228 80,428
O GiHx A 9,360
— D4, MDTLT KX BL LSOIFY
80,0002 * 62 * 33| * 404 5,760
— DT EWSHH 22|
80,0002 * 5% * 63| 2,400
— DT BHOIRY 2124Y)
80,0002 * 38 * 52 1,200
O ESVE-PS 1,440
Y, FY, ADILE
80,0002 * 6% * 33| 1,440
201 YBrey] 285,999 233,302 52,607
0T Al 2i2/H] 138,278 119, 444 18,834
O 4423 DXAH FLEX 7 8,636
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SA - BB SR(BIH) - MSAIY - BAS oflaron D MmEE)
— D2 702 * 9,3004 * 128 7,812
— Hg=2 70& * 8804 * 128 740
— A2 70& * 1004 ~ 128 84
O &Mk 22 XM 2dEss S5 HE 9,252
— &JI2 753 x 9,300 * 128 8,370
— g2 753 * 8802 x 12& 792
— A2 753 * 1004 ~ 128 0
O A4E 22 IA|
7,000& = 5H * 63| x 12& 2,520
O DA (EA)SEH| 110,000& * 43| 440
O dglHAA ZI[HA=E
500,000& * 15004 = 18] 7,500
O 445 AISE PR L MBI 2T
HiA 402 = 12,0003] 480
O At HZD| DIFE HHAEID HI=
502 * 1,500 = 128 900
O &= 22| Ty e+
295,000& * 3CH * 23] 1,770
O A4E 22X H4E HATT 7
100,000 * 3HA * 43| 1,200
O OS84T 22X BF2AF =SHiK72
1,000 *~ 102¥ = 33| 306
O M4Z 22K Z4F DA Shadf 4
= 80,000& » 34 * 18] 240
O M==AY 23 SAKKF 2] 7,980
— M= 272 ,500& * 129 « 24 6,540
— 23} 60,0008 * 129 = 2& 1,440
O M5 3K 52 AIZFH| A 23,904
— AT AIE 22|AF SAIHI
4,000& = 100m * 3JHA 1,200
— GASSEKX S 105
100,000& * 105 * 3HA 3,000
— &C2D0, WFD| 2l & ARE 2
70,000& = 3CH = 13 210
— RJIEA SHII(T0C) A28 7
150,000 = 1CH * 63 900
— PHEED| 42EF 79
200,000& * 1CH * 33 600
— AHLH CCTV RXIE4H|
250,000& * 1500 3,750
~ AR S WPl HIDEE DEAA
=1 600,000& * 374~ 1,800
— AT MAG D2 SH|IE 40|
1,037,000& = 12& 12,444
O =52 +3EIISIAs| B4 2o
50,000& * 10¥ * 23| 1,000
O A4E 22X B2% BA L, 22| 72,150
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FA -3 S2(3) - MRAY - BES Ofl &k Ol &FoH Hlms2
IES 50,0002 * 1162 * 3 17,400
— =X 50,0008 * 3652 * 3% 54,750

02 3324 147,721 113,948 33,773
O =245+ galt| 710,000 710
O &4E 22X I+ Hae3 2,618

- JlEe 3,500 * 6LH * 128 252
— AB2
4521 6% » 453 » 601 * 365 2,366
O CCTV QY H8sld 23
30,0002 * 15704 * 128 5,400
O B4%, tiX flagss
10,9008 * 3CH * 12 393
O I 4k H8sldz
28,0502 * 13004 * 128 4,376
O 445 23 1A g3 283
300 * 9,300 * 122 33,480
O &4E 23X 22 #Ie3
80,0008 * 32 * 128 2,880
O Bi#=XI, 2, J2E HII1R3
156,802 * 25004 » 122 47,040
O Lotz &3
5,002 * 15012 * 128 900
O &CIZDI, HIFDI RF
2,0008 * 104+ 43| * 3MA 240
O &4E F4F A=4 F24| 3,606
— G2Hl 1,808 * BAIZF * 3 * 80Y 3,456
— |A 50,0008 * 3JH 150
O &4E 23X F+T B2l e 7,860
— o2
1,400 * 15A12F * M4 * 120 7,560
— S 10,0002 * 34 300
O B4% odF2IA 2EE
500,0002! * 34 1,500
O &4Z AZ=7 U 10,564
KHERHA 600,000 * 1CH 600
- XMERFU
1,800 * 204 * 10§ » 249 8,964
— XRI 1,000,0002! * 1CH 1,000
O &% AT 0IZNSK 10,194
- 282 50,0008 * 6CH 354
— X 2R
2,008 * 5 122 » 604 * 128 8,640
— X |A| 200,000& * 6CH 1,200
O BTN &2 8%4|
15,000,0008 * 14} 15,000
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Ma: ol=go| oIEN 23
Eel: Xgast 2el(A=CSE3 ) (et &)
SA - B - SRI(E) - HRAR - B ofleso D HImS2t
O &=k 21857 0ISAHIA 88 iEE
= 80,0002 « 1CH = 123 960
202 04| 7,980 8,940 A0
01 =LH04HI 7,980 8,940 2960
O M4 2, F4 2F2A olt]
25,0002 * 1&8 = 123 300
O MadEsTo Sumsl o &2 ol
20,0008 * 6& * 22| » 1238 2,880
O 44T 22 =7 oyl
20,0008 * 48 = 5& = 123 4,800
206 M=Hl 76,625 77,695 /1,070
01 =4l 76,625 77,695 /1,070
O ASorE(Usteis) 7Y
210,000& * 93| * 2JH2 3,780
O +ZAME Aot % ZRXTY(155)
60,0002 * 155 * 23] 1,800
O ASAAET| S R 25,0008 * 1004 250
O =&2AME M=8 2L 1,600 * 75004 1,200
O SAtA E3HEX 72 2,000,000 * 14] 2,000
O +E34A8E 2| 7Y
45,0008 * 45004 20,250
O +EZ2AEE 242 72
4,100& = 1,0002 4,100
O +E24AE8 255 72
95,0002 * 45004 42,750
O JbEACH2S%, HH) & 4953 = 1,000kg 495
401 AIEHIZ R0 111,300 0 111,300
01 AlZHI 111,300 0 111,300
O =dd+& WX oAt WK 111,300
— OltAt 2 120,000& = 530m 63,600
— SLHI(FE5=R4) 60,000& * 530m 31,800
— O{2tAF Z&H] 30,000& = 530m 15,900
405 KHoHFSHI 69,000 23,600 45,400
01 TR EZFISHI 69,000 23,600 45,400
O 445 21227 qe 79
30,000,000& = 1CH 30,000
O gA0tA SSHER WM(=4)
36,000,000& = 1CH 36,000
O NE+E SHIX (YT, 2C, B4eL) 4
28 1Y 3,000,000& * 14! 3,000
Ngaree =2HA 20,250 18,684 1,566
201 Ler2d| 20,250 18,684 1,566
01 AtR2telY| 20,250 18,684 1,566
O XN s8a8A T2 20,250
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Eel: Xgast 2el(A=CSE3 ) (Sl &)
SA - H . BRA(SH) - MRAY - BAS Ofl ek o HImS2
— N F2ASBA(E )
33,0002 * 104== 3,432
— XYNLT FAAA(ES)
12,0002 * 104== 1,248
— Ngao S2HEAA
300,000& * 3044 + 83l 7,200
— Ngat SI1HA
510,000& * 3044 * 43| 6,120
— 2= UEY 2ULIEZ A1)
62,5002 * QM2 » 43 2,250
Sa=2 W X A 60,000 0 60,000
= 30,000
i 30,000
401 AlEHIZ S0 60,000 0 60,000
= 30,000
i 30,000
A&l 60,000 0 60,000
O NASE SUS+2 HEXE At
2,000,000& » 30AICH 60,000
= 30,000
i 30,000
NgaE 28 MG (a=ESE3H) 5,625,000 4,502,016 1,122,984
& 4,500,000
= 338,000
i 787,000
HRAY Xga+T SSAL 5,625,000 4,502,016 1,122,984
& 4,500,000
= 338,000
i 787,000
401 AIEHIZ R0 5,625,000 4,500,000 1,125,000
& 4,500,000
= 338,000
i 787,000
01 Al&HI 5,271,823 4,219,109 1,062,714
O M2 XYMLE SEA
5,271,823,000& * 14| 5,271,823
& 4,217,458
= 316,809
i 737,556
02 Zeldl 340,000 269,500 70,500
O M2 XYMLT SEAIY H22)Y|
340,000,000 = 14 340,000
= 272,000
= 20,400
i 47,600
03 A& 20 13,177 11,391 1,786
O HI2AY NLH4T B L0
5,271,823,000& * 0.24905% 13,177
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: X - e
SA BB SA(BH) - HIRAY - BES Ofl et o

e 10,542
= 791
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